10 1 1 )

1
€
1 Q Q2 Qs Q1=5.0x10 18 C Q2= 2.0x10 18C Q3=1.0x10 18C
(10 ) Q1 Q2 2.0y Q2 Qs 4.0u 1/(41 € 0)=9.0x10° m/F 2
Q1 Qs G )
Q2 Qs G )
Qs G )
Qs @ )
2 a[m] QI[C] r [m]
(30 ) £ s
(r a
2-1-1 r[m] 2 )
2-1-2 2 )
2-1-3 2 )
2-1-4 E @ )
2-1-5 r[m] 2 )
2-1-6 r[m] 4 )
(r<a)
2-2-1 a[m] 2 )
2-2-2 r [m] 2 )
2-2-3 2 )
2-2-4 2 )
2-2-5 E 2 )
2-2-6 r[m] 2 )
2-2-7 r [m] 4 )
3 3 40 uC 9.0uC 50uC 40 py C 20cm 9.0y C 30cm 5.0u C 20 cm
G ) A 1/(41 € 0)=9.0x10° m/F 2
4 a[m] ( ) b [m] ( ) € s
(12 ) +Q [C] QI[C]
r [m] arb 3 )
G )
C Q \ ( ) G )
G )
5 p [C/m3] € s Vo [V]
34 ) x [m] V E W [m] x=0m
V=0V x=W [m] V=V [V]
S [m?] x[m]
( ) A
5-1-1 2 ) o
5-1-2 2 )
5-1-3 2 )
5-1-4 E
5-1-5 E p 2 )
5-1-6 E Vv ( ) 2 )
5-1-7 5-1-6 V p 2 )

5-1-8 5-1-7 X 2 )
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5-1-9 5-1-8

5-2-1
5-2-2
5-2-3
5-2-4
5-2-5
5-2-6
5-2-7

X [m]
x[m]
x=W [m]

q [C]

S [m2]

v [m/s]

(3

3

(3

S [m?]

)

n[m 3]

4



